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28681

Q) What is the name of tool? | 38 =1 1 19 T &2

AT Global iTi YouTube Chann
L pdf download-

b) Hook spanner | g& R
c) Face pin wrench | %9 fo= R=r
d) Pin wrench | fos =

Right Answer is : B. | You have Marked : C. Wrong Answer

el

28682

Q) Which material is used to clean the slip gauge? | f&u 51 &l 9T e & forg
fora mefTet @ Ui faran sirar 82

a) Wax | &t

b) Kerosene | fAe&l a&

c) Soluble oil | geri2fiet d«

d) Carbon tetra chloride | @1l 2gTawiRIzs

Right Answer is : D. | You have Marked : B. Wrong Answer

28683

Q) Where is circular taper key used? | deerk Tur &Y &1 W4T gl faaT ST 82

a) Light duty transmission | &iTge ST g
b) Bi-directional rotation | &<t =gt gimfazm

c) Lengthy shaft | &® 7ifa &Y srragerand
d) Tapered shaft | 3=a 7ifa emasaerdarsi

Right Answer is : A. | You have Marked : B. Wrong Answer

28684

Q) What is the ratio of key way taper? | &Y & 2UR <hT 3UTe T &?

a) 1:19
b) 1:20
c) 1:50
d) 1:100

Right Answer is : D. | You have Marked : D. Right Answer

28685

Q) What is the name of gauge? | 39 ST kT TTH T &7

a ]
F"" F ___
LI e

a) Thread ring gauge | 9= R s
b) Thread plug gauge | %S &I w1
c) Thread pitch gauge | 3= fo st
d) Taper plug gauge | UR @1 ST

Right Answer is : B. | You have Marked : B. Right Answer
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28686

Q) What is lead of multi start thread? | 78} ®IE 9 & it 7T &2

a) Pitch x No. of starts | forr x Tréq i dan
b) Lead x No. of starts | sfis x &réq &t g
c) Pitch x major diameter | for=r x AR a9
d) Pitch x minor diameter | forr x ATg=R =™y

Right Answer is : A. | You have Marked : B. Wrong Answer

28687

Q) Which material is to wash off the lapping plate after charging? | fors Irft @t
TSt e & J1g AT e ot 9T 82

a) Oil | a=1

b) Kerosene | fiedt d«1

c) Coolant oil | e d«

d) Petroleum jelly | 9giferas Sieft

Right Answer is : B. | You have Marked : . Wrong Answer

28688

Q) Which bearing loading is at right angles to the bearing axis? | i & faafn &
f3e foafar erer & uentor giar &2

a) Thrust bearing | 3/ farafT
b) Journal bearing | si=et faafar
c) Solid bearing | Tffars frafar
d) Split bearing | feee faaf

Right Answer is : B. | You have Marked : D. Wrong Answer

28689

Q) Which is the abrasive used for lapping soft steel and non-ferrous metals? | foFe

Srueeh (T8T¥a) &1 IuahT 777 §¥UT SR 31ty arg sl & |Afti & forg famar smar 82

a) Silicon carbide | R #Malss  G|obal iTi YouTube Channe

b) Diamond | &Rt
c) Boron carbide | k9 wrafss pdf download-

d) Fused alumina | RIgs T&EHAT

Right Answer is : D. | You have Marked : A. Wrong Answer

10

28690

Q) Why the tempering process carried out in steel? | & & dufdw uferar et R
Sreft 82

a) To add cutting ability | sre=t R} ermar St & fag

b) To relive strain and stress | ¥ 31X ¥+ &l ¥ e & forg

c) To refine the grain structure | 3+ T==T &t URspd e+t & fog

d) To regulate the hardness and toughness | FHSRdT 3R T &l A[ee H & forg

Right Answer is : D. | You have Marked : . Wrong Answer

11

28691

Q) Which type of bearing is designed to take axial thrust as well as radial loads? |

forg uepR a1 fafR, siefta we & ry-ary Aeae WR IoM & fAw I=TaT T 82

a) Ball bearing | ate1 farafr

b) Roller bearing | R sfrafdr

c) Taper roller bearing | 0= AR FafRar

d) Angular contact ball bearing | GT[eR @1=¢are afet i

Right Answer is : D. | You have Marked : . Wrong Answer
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28692

Q) Which type of bearing metal is self lubricated? | fore werR & farafr eng & @i @
Sgh garg?

a) White metal | a1ge Aee
b) Sintered alloy | =< e

c) Aluminium alloy | Tegfafaas ffsr urg
d) Cadmium based alloy | Shsfraw aws fAsr urg

Right Answer is : B. | You have Marked : A. Wrong Answer

13

28693

Q) Which metal protects corrosion resistant and does not crack or peel off due to
temperature variation on coating? | @I Tt erg HerRor ufeRteht Y 2am et § oz
iféT oR ATaET AT & HROT RR a1 Seran g 8?2

a) Zinc | ST&IT

b) Nickel | Reret

c) Copper | diaT

d) Chromium | sRifas

Right Answer is : A. | You have Marked : B. Wrong Answer

14

28694

Q) What is the name of the bearing? | 39 faraf{a &1 71 TIaTw?

““‘,..f ""-m,__{::;;“'m_ Gl R
2 obal iTi YouTube Channel

pdf download-

a) Split bearing | f@e faafdr

b) Solid bearing | Gifers faafr
c) Thrust bearing | 3/ R
d) Journal bearing | S=et fiafar

Right Answer is : B. | You have Marked : A. Wrong Answer

15

28695

Q) What is the name of part marked X? | X & &0 & Rfa wnT &1 9 @ g2

a) Ball case | afeT ha

b) Inner race | 3R 3™

c) Outer race | 37T¥ex I

d) Ball separating cage | afet @u’fé et

Right Answer is : D. | You have Marked : . Wrong Answer
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28696

Q) Which bearing material has poor thermal conductivity? | fora farafRn it sefia
ATeTehdT(UHe srsfaeadl) &n gidt 82

a) Nylon | Traeir=

b) Teflon | 3wt

c) Sintered alloys | fR=E srema

d) Laminated phenolics | fas¢s Alfoas

Right Answer is : D. | You have Marked : D. Right Answer

17

28697

Q) What is the name of the plumber tool to assemble or dismantle pipes of 50 mm
to 150 mm diameter? | 50 At & 150 At =9 & ursy = 3ehgT o1 faafea A &
fore @R gt 1 A9 @ g2

a) Strap wrench | ®u f¥a

b) Chain pipe wrench | 31 utgu R=r

c) Still son pipe wrench | f« 9= urgu R=r

d) Foot point pipe wrench | e wrge ursy =

Right Answer is : B. | You have Marked : . Wrong Answer

18

28698

Q) What is the name of part marked as X? | X & &9 & Rfga ¥ &1 91 Ia19?

a) Cutter wheel | &ex et

b) Adjusting screw | 3rTf&T &F
c) Guide rollers | Trss A<t

d) Hand lever | s sfiaR

Right Answer is : A. | You have Marked : C. Wrong Answer

19

28699

Q) What is the position of eccentric reducer are used in pipe lines? | 93U #Tg=il &

TerRifeen 3geR Y uishizr o gidt 82

a) Vertical position | aéferer tisfia=

b) Angular position | §TeR gisfiarm

c) Radius position | ¥2ag glsfiaEs

d) Horizontal position | gfiReifeet tisfieq

Right Answer is : D. | You have Marked : . Wrong Answer

20

28700

Q) How pipes are classified? | arsul st & aaffepa favar sirar 82

a) Uses | Iuair
b) Colour | &1

c) Shapes | strepfaat
d) Material | meRaer

Right Answer is : D. | You have Marked : A. Wrong Answer
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28701

Q) What is the name of jig? | 39 {1 a1 =19 =T &2

pdf download-

a) Post jig | ute fSmr

b) Solid jig | @ffers farT

c) Channel jig | 391 f&1
d) Trunnion jig | gfa= famT

Right Answer is : C. | You have Marked : C. Right Answer

Global iTi YouTube Channel
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28702

Q) What is the purpose of setting blocks used in the fixture? | fthaeer & Iuzhy fehg
ST dret @fd =ATeh h1 22T AT 8?

a) Position the balancing weight | Sige= a9 & AT

b) Position the clamp and locators | &Y 3fi¥ ez i AT

c) Position the fixture on machine table | #2fi5 &t a1 = [RA=ar H

d) Position the fixture and work related to cutter | sheX @ Hafded fRA=aT iR e A
f=fa

Right Answer is : D. | You have Marked : . Wrong Answer

23

28703

Q) What is the colour of the aluminium metal? | TFIfAT a1 1 &1 /T 82

a) Yellow | fierr

b) Reddish | ITeT |1

c) Whitish grey | arsfear #

d) Silvery white | A%t arse

Right Answer is : C. | You have Marked : D. Wrong Answer

24

28704

Q) What is the type of gear? | fR &1 UehR a1 82

a) Spur gear | @R 1R

b) Mitre gear | #ex TR

c) Hypoid gear | grguls iR

d) Herringbone gear | gRa= iR

Right Answer is : B. | You have Marked : . Wrong Answer
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Q) Which ore is extraction of aluminium? | shI< AT 3%k TegHifAT 1 fAcafor &2

a) Pyrites | UTSI3T

b) Galena | =T
25 28705 c) Blends | =g ®
d) Bauxite | afaTse
Right Answer is : D . | You have Marked : B. Wrong Answer
Q) Which ore produces lead metal? | foher 3ra<er 9 S urg I giedl 82
a) Pyrites | UTsRISCH
b) Bauxite | afaTse
26 28706 c) Malchite | A<Tehrrse ®
d) Galena | =T
Right Answer is : D . | You have Marked : D. Wrong Answer
Q) Why vertical belt drive is avoided in power transmission? | UTeR giaf= &
aféaret See 313 &1 SHTA HT Ag1 BT ATgd?
a) Because of small wrapping of belt | dv2 & 31¢ sdex &t gorg @
27 28707 b) Because of excessive contact | 3rcfles Tueh & R ®
c) Because of gravitational pull and slippage | TETertor f&ara iR fhae= & wROT
d) Because of increase in surface speed of pulleys | geft Y @ag fir nfa & gfeg &
hIRUT
Right Answer is : C. | You have Marked : B. Wrong Answer
Q) Which energy is converted in hydraulic pump? | gisgtferes du # fohg o1t &t
gRafda forar srar &2
a) Thermal energy to hydraulic energy | ¥« Swif ot gragifere ol &
28 | 28708 | b) Electrical energy to hydraulic energy | faega Ssif i grsgifors S=if & ®
¢) Pneumatic energy to hydraulic energy | aradia Swif @t grggifore ol &
d) Mechanical energy to hydraulic energy | Tifes Swif @l grggiferes ot &
Right Answer is : D. | You have Marked : C. Wrong Answer
Q) Which formula is used to calculate the pressure? | B2R &t o1 A & fog forg
A T IUANRT R Srar 82
a) Force + Area | &I + &5thel
29 28709 | b) Force / Area | a1 / &15Ithed ©
c) Force - Area | &1 - &15Tthel
d) Force x Area | oIeT x &5Tthel
Right Answer is : B. | You have Marked : B. Right Answer
Q) What is the unit of pressure in Sl unit? | SI 3ehTS & 2R &Y FhTS 7T &7
a) Kilogram | fereitums
b) Pascal | 9r¥het
)
30 28710 c) Pound | Ui @
d) Meter | Hiex

Right Answer is : B. | You have Marked : B. Right Answer




Q) Which law states that the pressure exerted on a liquid is transmitted equally in
all the directions? | fora o & vgT 7T & foF Teh et WR =TT 1T e ot feamait
o 99 U @ ATk gidar &7

a) Boyles Law | aITaret <ht fAaw

31 28711 b) Pascals Law | Ur¥ehet a1 fRas &
c) Hooks Law | g &1 s
d) Archimedes Principle | enfhfads Rgia
Right Answer is : B. | You have Marked : B. Right Answer
Q) Which system is used to move load with less efforts? | & THET & TTY IS i
g A & g fohe 2ree a1 o e strer 82
a) Pneumatics | =fesh
32 | 28712 | b) Hydraulics | grggifeies ®
c) Pressure | EaTd
d) Flow of Air | arg =pT Uag
Right Answer is : A. | You have Marked : C. Wrong Answer
Q) What is the name of the clutch? | @<= kT 19 T 82
33 | 28713 " ©
a) Dog clutch | st o=t
b) Cone clutch | 21 &=
c) Air clutch | TR o<1
d) Centrifugal clutch | <&twITet aerar
Right Answer is : B. | You have Marked : B. Right Answer
Q) Which coolant oil is emulsified with water? | @< TT 2ftderer d«, Uit & 91y
FAfRIEES gar 82
a) Soluble oil | Hiegee ae
34 28714 | b) Kerosene | faecét a& ©
c) Mineral oil | @fst a1
d) Lard oil | &IT€ 3mae
Right Answer is : A. | You have Marked : A. Right Answer
Q) Which property states that the temperature of the lubricant is able to flow freely
while poured? | @I ¥t 77u1 a8 FaTaT & fF Vg o1 ATUH SEA THY WA U F
TaTg e J e 22
a) Oiliness | a<fraar
35 | 28715 - ®

b) Fire point | 3if= faig
c) Pour point | UR wTEe
d) Flash point | w321 @rge

Right Answer is : C. | You have Marked : D. Wrong Answer




Q) What is the main advantage of toothed chain drive? | gidgR 31 3139 &l T&A 1Y
T 8?

a) Increase the tension chain drive | 39 391 g154d &1 g&-TT

36 28716 | b) Provide noiseless and uniform drive | 21id 3R gfAwrt grga ver & ©
c) Efficient between shafts in short distance | &% g&f # emue & &= 3fthere
d) Provide high speed low torque transmission | 3= 7fd & @tk TRUT ST
Right Answer is : B. | You have Marked : B. Right Answer
Q) Which crane is used in remote place and offsite? | Z3<I T 3R ATHATEE &
forg forer shet a1 S fakaT STTaT &2
a) Gantry crane | =it &
37 28717 | b) Pillar jib crane | fder g &= ®
c) Travelling wall crane | gafeiT ater sh
d) Truck mounted crane | €& ATSES the
Right Answer is : D. | You have Marked : B. Wrong Answer
Q) What is the purpose of hydraulic floor cranes? | gTEgiereh shel hT 32T T &2
a) To lift the loads | ¥R 311 & faw
38 28718 b) To shift the loads | YR &} THIAReE H & fag o
c) Used on lever to lift or lead heavy loads | W} ¥R &1 T AT he & fag
d) To raise and lower the load | #tg & FeF 3R &7 &4 & fag
Right Answer is : C. | You have Marked : C. Right Answer
Q) What is the name of the crane? | 39 g9 T T T &2
39 28719 ©
a) Pillar jib crane | faeR fa v
b) Gantry crane | A=t the
c) Travelling crane | 2afeir et
d) Bracket jib crane | sitRie Qe she
Right Answer is : A. | You have Marked : A. Right Answer
Q) How jib crane is used to move the load? | ¥R &l ®IFIaRd #A & fog fSa =
T IUTIT & o ST 82
a) Radially | Bsama
40 28720 | b) Vertically | sisad ®

c) Horizontally | &fast
d) Inclined angle | ITgS T

Right Answer is : C. | You have Marked : B. Wrong Answer




41

28721

Q) Which is the main purpose of using the lubricant oil in engine moving parts? | it

&9 Ieelt M A Eigeh a1 ST IUART T+ ohl T&A I 872

a) To increase the efficiency | &#a1 sIe™ & fag

b) To reduce friction | afur &t &H A & forg

c) To improve carrying capacity | g &/HdT § §UR & &
d) To improve the durability | ®nfaea § guR & &

Right Answer is : B. | You have Marked : B. Right Answer

42

28722

Q) Which depends on the frictional force? | erefur a7 U= i<t |1 fA¥R et &2

a) Type of metals | egsfi & TR

b) Contact surfaces | 9ueh Ihd

¢) Quantity of the contacting metals | & Hueh ergafi &t AT
d) Quality of metals | ergsfi &l qoramn

Right Answer is : B. | You have Marked : B. Right Answer

43

28723

Q) What causes the efficiency of a machine by maintaining the lubrication? | ©g
& IATY 7@ & ZRT Gah Afi Fi g&1ar 1 FRoT a1 82

a) Increases | ggdt &
b) Decreases | ¥ g STt &

c) Remains same | Qe & T@gaT @
d) Does not affect | uTfad Tl e &

Right Answer is : A. | You have Marked : A. Right Answer

44

28724

Q) What is weight of an object could be moved by a force of 30 Kg if co-efficient of
friction is 0.0125? | af& ador otk 0.0125 § dt foheft a¥g &1 YR 30 Kg & a1 gRT

QTR forar ST Terar 82

a) 80 Kg

b) 2430 Kg
c) 72000 Kg
d) 2400 Kg

Right Answer is : D. | You have Marked : D. Right Answer

45

28725

Q) What is the centre of gravity of a rectangular body? | TR ftz & & &1
g ermar?

a) Longer side of rectangle | 31Tad & et 99 deh gel

b) Shorter side of rectangle | 31/ & B1¢ uet

c) At the point of intersection of its diagonals | 35 faeruTt & TRT & fiig W
d) At the corners | &= &

Right Answer is : C. | You have Marked : C. Right Answer

46

28726

Q) What is the name called biggest chord of the circle? | =sh &1 Y& F2T °TY <kt T
hel SITaT 87

a) Arc | 31Tch

b) Diameter | =TH
c) Radius | }f2aa
d) Diagonal | faeruf

Right Answer is : B. | You have Marked : B. Right Answer




Q) What is the diameter of the circle, if the area of the circle is 78.5cm?? | afg g=1
T &Ithel 78.5cm? &, g T 2aTH T 8?2

a)5cm
47 | 28727 b)10cm ®

c)15cm

d) 5.5cm

Right Answer is : B. | You have Marked : . Wrong Answer

Q) What is the multiplication value of 5a%b x 8a°b®? | 5ab x 8a°harT U AT AT 2?

a) 40a’b*

b) 40a%b? >
48 | 28728 2 0o @

d) 40a%b?

Right Answer is : A. | You have Marked : A. Right Answer

Q) What is the value of any number raised to the power of 0? | 0 & a1d & I&1¢ T

foreft oft T o1 g R §?

a)0
49 | 28729 b)1 ®

c)-1

d) oo

Right Answer is : B. | You have Marked : A. Wrong Answer

Q) Which is expanded form of a3- b®? | a®- b* &1 #19 &1 82

a) (at+b) (a% - b? - ab)

b) (a-b) (a2 + b2 + ab) >
50 28730 c) (a-b) (a2 - b? - ab) ©

d) (a-b) (a2 - b? + ab)

Right Answer is : B. | You have Marked : B. Right Answer

Q) Which is thermo plastic material? | 398 @ I9-91 YHT wiTfes Grrft g2

a) Butyl rubber | SgeTseT TR

b) Nylon | Ara=tt=

)

51 28731 c) Neoprene | fRaif= G

d) Vinyl polymers | faqrse ufeliaR

Right Answer is : D. | You have Marked : D. Right Answer

Q) Which force acts on crank shaft? | sh<-9T &1 dheh MU TR hRf haT 22

a) Shear stress | 2fiaR ufaaer
59 28732 b) Torsional stress | &f=et ufaae <

c) Tensile stress | 31gerva ufaere
d) Compressive stress | 9¥is= ufaae

Right Answer is : B. | You have Marked : B. Right Answer
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28733

Q) What is colour of a metal piece when heated to 250°C while doing the tempering

process? | 2701 ufeham s THY ek T & gehs @l 250°C U= 1 foha e g, &t

a) Blue | e
b) Brown | 3T
c) Purple | dvr=ft
d) Pale | tier

Right Answer is : B. | You have Marked : B. Right Answer

54

28734

Q) What is the process of heat treatment? | StAT IUIR Y ufehar aam &2

a) The process of heating and cooling to change the structure and properties |

b) The process of heating to change the dimensions | T} & s & forg gfdn
& ufgrar

c) The process of cooling to measure the dimensions | 3T} @t #ATI & fArg HichT
&Y ufshar

d) The process of heating and bending as per our requirement | AT} 3TaTehaT3AT

& IITER &ifén ok geret Y uldkan

Right Answer is : A. | You have Marked : . Wrong Answer

55

28735

Q) What is the expanded form of S.P? | T9. . (S.P) @1 faxqd =u = 82

a) Selected Price | Tafaa gea
b) Special Price | fasiv =1

c) Selling Price | fasra g7a

d) Super Price | guR 79

Right Answer is : C. | You have Marked : C. Right Answer

56

28736

Q) What is denoted as I? | 31T$ (1) forsent fA=efa rar 82

a) Principal | fifRuer
b) Interest | §e¥&

c) Rate | ¥

d) Year | $R

Right Answer is : B. | You have Marked : B. Right Answer

57

28737

Q) What is the interest earned, if the principal is Rs.12000/- becomes to an amount
of Rs.15600/-? | |TLRUT =TT T g, afe Rs.12000/- Y ¢=R1f2Y, Rs.15600/- &

STt 87

a) Rs.2,600
b) Rs.3,600
c) Rs.4,600
d) Rs.5,600

Right Answer is : B. | You have Marked : B. Right Answer




58

28738

Q) Which authority publishes schedule of rates? | shI<I-T TTfAeRRoT &3 & SN &
YeRTTA hedT 82

a) Individual | =afmra

b) Corporate | i @ Geifdd (ehiuRRe)

c) Partnership firm | ur&=Rfg wf

d) Government department | GRe_Y famT

Right Answer is : D. | You have Marked : D. Right Answer

59

28739

Q) Which of the impurity in cast iron makes it hard and brittle? | &<a «ilg & pi=-3ft
SIYFAT 3 SR R WIR FTT 82

a) Silicon | fafareta

b) Sulphur | e

c) Manganese | &St

d) Phosphorus | /hi@hRT

Right Answer is : B. | You have Marked : . Wrong Answer

60

28740

Q) What is the name of a booklet, the rates of various terms are indicated? | gfaim

a) Price bank | g4 §eh

b) Price bunch | g =1

c) Price tag | F&a ga-iich

d) Price catalogue | 7 gt

Right Answer is : D. | You have Marked : D. Right Answer
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